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Examiner's comments

Q1 Cam mechanism

Part (a) was generally answered well, although there were several examples of incorrect
equivalent mechanisms. Shortcomings in the answers to part (b) included: incorrect
expression for entraining velocity; no discussion or interpretation of numerical results; no

contact pressure calculation; numerical errors.

Q2 Hydrodynamic bearing

Parts (a) and (b) were generally answered well. In part (c) some answers were inaccurate
because the tabulated data was not interpolated, or because a trial and error procedure was
used to find the solution. The numerical answers to part (d) covered a wide numerical range,
unreasonable values were often stated without comment, and units were often wrong or

absent.
Q3 ° Hybrid drive

In part (a)(i) the energy required to overcome the constant force term was omitted by some
candidates. In part (a)(ii) the constant force term was sometimes incorrectly included in the
energy storage analysis. Apart from these problems the question was answered well.
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